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ARO Piston Pumps
Selection Guide

@ Ingersoll Rand.



Fluid Pressure (PSt)

1200

1000

800 |
600 |

400 |

Reading Performance Curves

Performance Curves
9:1 Ratio Piston Pump

200 |

U.S. GALLONS PER MINUTE DELIVERY

CYCLES PER MINUTE
0 50 100 150
| : = 1 : - i | : : i ‘ I ] 200
I [ Performance based on 30 wt. oil at ambient temperature. | ] -
- Yoopsi o s Tl 160
f\ \\ .- d I AL
30 psi -7 L-%opsiTT :
\ L7 .7 —4120
_ << < et 1100
‘ ) g _ .| -60psi---mT T
._\BOPSL\ ’ ) . ) ‘\‘(“ - -1 80
, 7 ’ _ = \\ i 60
e e N
/”;", \ .
I weks \ ?
[y z ) A . ) ) ) . . ) . ) . 0
0 5 10 15 20

Air Consumption (SCFM)

Use curves to
determine if a pump
can meet the
application
requirements

The X-Axis indicates
flow

The Y-Axis indicates
fluid pressure

QB) Ingersoll Rand.



Fluid Pressure (PSl)

Determine Fluid Flow

Performance Curves
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Air Consumption (SCFM)

Example Calculation:
Back Pressure = 800 psi
Air = 90 psi

Flow = 1.8 gpm

Plot 800 psi on Y-Axis
until it meets the 90 psi
line. Plot down to the X-
Axis (flow)

In this example the
pump is capable of
delivering around 1.8

gpm
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Air Consumption (SCFM)

Example Calculation:
Back Pressure = 800 psi
Air = 90 psi

Flow = 1.8 gpm

Plot 1.8 gpm on the X-
Axis. Move up until you
intersect the 90 psi
curve, then plot over to
the SCFM axis

The pump will use about
20 scfm of air in this
application
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Air Consumption (SCFM)

Determine Cycle Rate

Example Calculation:
Back Pressure = 800 psi
Air =90 psi

Flow =1.8 gpm

Plot 1.8 gpm on the X-
Axis. Move up until you
intersect the top line of
the chart

To deliver 1.8 gpm, the
pump will cycle roughly
15 times per minute
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